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March 17, 2011

This test is open book and notes.  All work shall be by calculator computations and must be your own work and shown.  Additional paper may be used and attached.  Time allotment is during regular class time (3 p.m. – 7 p.m.)

Part 1 Short Answer (2 Pts. Each)

(1)
U.S.G.S. 7.5 quadrangle scale is:  
1” = 

’
1:  


(2)
The original thirteen colonies and current representative states utilizes the 






 system of land survey.


(3)
What is a Kentucky patent deed?

(4)
In 1785 Thomas Jefferson initiated the public land survey system.


True   or   False

(5)
The public land survey system coordinate system is based on:

(a) longitude and latitude

(b) ranges and townships

(c) 640 acres

(d) 1 mile squares

(e) Mason Dixon line

(f) prime meridians

(g) a and f

(h) none of the above

(6)
A township is 


 miles square.

(7)
A public land survey section equals 

 acres.
(8)
Morehead

Latitude  

°





Longitude  

°

(9)
In Kentucky during the settlement period of the 1700’s and 1800’s, surveys for the conveyance of land from the Commonwealth to individuals were conducted by:

(a) Surveyor General

(b) Daniel Boone

(c) County Surveyors

(d) Geographer of Kentucky

(e) Governor

(f) None of the above

(10)
USGS 7.5 Minute quads are based on aerial photos and field checks.


True   or   False

Part 2 Stadia (10 Pts. Each)
(11)
Explain the practical uses of stadia measurements.

(12)
A stadia measurement is taken with an instrument at a location with a ground elevation of 532.85 feet, the HI and R.R. are 5.25 feet, the vertical angle from the instrument to the rod is 0 = 3° 52’, rod reading interval = .501.  What is the horizontal distance between the instrument and rod?

Part 3 (20 Pts.)

(13)
The following sketch shows a building and other ground features.  Determine and show the location of a traverse station circuit necessary to locate all building corners and features by field survey.  Show and number traverse stations and side shots in sequence and show dashed lines from traverse station to traverse station and to side shots.  All angles to the right.

Part 4 (40 Pts.)

(14)
You are provided the following set of old survey field notes.  Calculate the error of closure of the traverse and balance by compass rule if closure is less than 1:10,000.  Based on the notes (1) compute the bearings, distances, coordinates of all traverse stations, (2) determine the dimensions and area of the building located by side shots.
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